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= 114,280,008
[ 1,105,000
= 39,371,568
= 1,910,000
MEZol 2el 154,866,281 128,743,730 26,122,551
= 113,977,008
[ 1,105,000
= 38,224,273
= 1,560,000
oI 2el 154,866,281 128,743,730 26,122,551
= 113,977,008
= 1,105,000
= 38,224,273
= 1,560,000
ZEot=VIE gexd 2,565 2,565 0
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OXEot=)I18 gRFA 2,565
OIMIBIX X2 CHEY 92,000 92,000
201 Ler23 | 92,000 92,000
01 At2t2lt] 92,000 92,000
OUINSHXIUHARS 28 S 22,000
OUINEX s 82 70,000
SRR BHES H2A 55,565,050 56,396,000 /830,950
= 44,014,150
= 11,550,900
403 AXIEHMSAH=201d 55,565,050 56,396,000 830,950
= 44,014,150
= 11,550,900
01 AR A =2 £ 55,565,050 56,396,000 A830,950
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= 38,084,500
=S 11,425,350
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= 27,158
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= 493,500
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= 493,500
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= 48,000
= 14,400
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= 66,998,000
=S 25,603,000
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= 66,998,000
< 25,603,000
01 A= 2L 92,601,000 65,937,100 26,663,900
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= 508,000
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= 48,000
01 AXISHHA=2 2L 208,000 234,000 226,000
O&Jl=z)| 25 208,000
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OJMEE N=2 22 25 496,200
= 496,200
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= 1,740,000
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= 1,500,000
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01 XN BELES 60,000 60,000 0
OHE2CIM £2 DIMSX M2 60,000
= 60,000
gelstdd s 1,735,855 1,947,475 A211,620
= 303,000
< 1,082,855
= 350,000
SIAHE g4 Lst 1,735,855 1,947,475 A211,620
= 303,000
== 1,082,855
= 350,000
SAHH 2 AT oHCH R =& 503,855 620,000 A116,145
307 212+01& 120,000 217,000 A97,000
02 2B HAHE L 100,000 217,000 A117,000
Ol AL FHA Y S AHAYSSTA} 100,000
04 QIZHHAMAIH 2 & 20,000 0 20,000
OAHIIoH A 2= 20,000
308 AXIHSO0IA 383,855 403,000 N19,145
01 HAHHBSEEXS 293,855 403,000 109,145
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